1076.7
1076.7

goooooon

oooogoao NNN17512K+NNN89992K
0o LED3500 80 4340 x1 4340.0 | n
0000 K0153647 (0) DB 1
0000 Bz1/4.5/Bz2/6.0/BZ1
0o 80 % 70 % 50 % 30% 0 %
0ooo 100 % |0
0o |7ol50]30]10f70]50]30f10]70]50[30]10]70]50]30]10]00%
oooo 0% |[U]q 10 % 10 % 10 % 10% |o%
ooon 100 % |pgooD 000 ( X0.01) ZCM
5 0.76 0.6 [77]70|le5|62|77|70|65|62|75|69|65|62|74|68|64|61|60
000 0 o0 72 0.8 [s8al77|72|69]|83|77|72|69|81|76|72|69|80|75|71|68|67
0y s 1.0 |ss8|s2|77|74]|87]|81|77|74]|85]|s0l76]74]83|79]76|73]|72
' —1.25|92|86|82|79]|91]|86|82|79]|89]|84a]|s1]|78]|87]|83]|s80]|78]|76
nooond DDZ 1.5 |oa]|so|ss|s2|93]|s9lss|s2|o1|s7|sals1]s9]lsels3|s1]79
0ooooo 00 2.0 |os|o4]loo]ls7|97]|93|89|s7|94|91]|88]|86|92]90]|87|85]83
0o 0000000 2.5 hoooelos|o1|oolos|o3|ooloe|oslor|salos|loz|onlss]|ss
00 |oooooo |oooooo 3.0 hodos|os|oshooo7|os|os]|os|oas|as|or]aelosloz]|on]ss
Hol o.85H7 | 0.83Hy | 4.0 hotooos|oschodoolos|os|loo]los|oe|oalo7|oe|oalas]on
5.0 podro2ioooohoshooo|oshoooolos|oslos|o7|oslos|o2
7.0 pospodioiothodiospothoohoziothoooohoooolos|oa7|os
10.0poetosrodrodioshodrozpofosroqohoooorogoaloo]os
140°
g U N ] En il 810—0f e
- 0 0 O B ~
0AaONDAd00Yy quUupuoguup oy O
H=1
4
I\ H=Db
1 \Y
[N G
0° 120° ] W=D
I'/f“‘ I~
Y' H=13
- I~
1
J|U JU i
A B
° Q° 3 [

INIRINERINERINERINE



